Transformations infinitésimales, SU(2) et SU(3)

N. Lygeros

N N .-
aF - af, aF
F—’F+dF=F+Z—r£xi=F+Z Z—drxv —
__lﬂxi = _lﬂav dx;

F+dfF ={1—-2%V_,da,i% }F £ =i¥N ofi 8

izlaﬂx,

da; = g,

8f, _iay 8fi _ gy 85 _ iay

da z’ da, z’ g 2

af,_ Eq‘_ E'f‘_ :_L ﬂf: :_:q_‘_

da E,BE: 2’ ag 2
a8 E'}

ot

2 =—g—+ a0

1 z{q‘aq_ q fag




Q

)

=

|

S

S

S

S

-

[
o,
= o
= =
Lo e |
—
i
(3]

Il
o,
.
= |

(o]
Lo e |
~——
S
(45 )

[
s

0 0 0 0 0 0
o 0 1 o0 0 —I o 0
,14:(.3 0 n), 5:(0 0 u), ,16:(0 0
1 0 0 i 0 0 01
L 0 o
0 0 0 v )
Aa=(0 0 —i], =0 % 0
0 [ 0 2
' o 0o -=Z

-

Algebre SU(3) [Gﬂ,ﬁb] = ifop: 0o

r
1

1 1 1
fiza = 1 fie :;’fj_s.s =772 fase ey fas7 =3

B |I'.|-J.I

1 1 3
< fass zg,fas? =7 fase = %’ fere =

fi_;l'k =0
\



